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l. Entomology is the science that studies :

(a) Behaviour of human beings

(b) Lrsects

(c) The origin and hiitory of technical and scientific terms
(d) The formation of rocks

2, For which of the following disciplines is Nobel prize awarded ?

E| Ph''sics and Chemistry (b) Physiology or Med.icirc
(c) Literatur-,, peace and Economics (d) All of these

corfry ?
(b) Frji

(d) u.K.

How many Lok 
'Sabha 

seats belong to Rajasthan ?

(a) 32 0) 2s
(c) 30 (d) t7

Who is the father of Geometry ?

(a) Aristotle

(c) Pythagoras

6. Who was known as Iron man of India ?

(a) Govind Ballabh pant 
O)

B.A.LL.B. {5 yearsl (Hons.)

Time : 2 Hours

(e) haia

Entrance Test, 2O17_201g

(c) Subhash Chandra Bose

L-ET-1711tA

Euclid

Kepler

Jawaharlal Nehru

Sardar Vallabhbhai pare!
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(b)

(d)

(d)
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7. The lndian to beat the computas in mathematical wizad4-is :

(a) Ramanujam

(c) Raja ft4a1anna

(b) Rina Panigrahi

(d) Shakuntala Deri

(b) interstellar dust

(d) none of these

(b) topography

(d) none of these

8. Jude Felix is a famous Indian player in which of the fields ?

l0

), The Great Victoria Desert is located in :

(a) Canada (b) West Africa

(c) Australia (d) Nofth America

The light of distant stars is afiected by :

(a) Volleyball

(c) Football

(a) the earth's atmosPhere

(c) borh (a) and (b)

(a) Novas

(c) Meteors

(a) vegetation

(c) climate

i-r. \\tho is the Law Minister of Haryana ?

(a) Captain Abhimaryu

(c) Anil Vij

L-Er-171114

O) Tennis

(d) Hockey

ll, The ninor planets revolving between the orbits of Jupiter and Mars are fl:

O) Comets

(d) Asteroids

12. The most important factor that is affecting all the chemical \\-edb- ;rces is :

(b)

(d)

2
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t4. Who invented the BALLPOINT PEN ?

(a) Biro Brothers

(c) Bicc Brothers

Which is the higbest gatlmtry award in India ?

(a) Param Vishisht Seva Ivlodal

(c) ' Kirti Chakra

(b)

(d)

Waterman

Wright Brothers

15.

(b) Param Vir Chakra

16.

iz. polia., Prize is awarded 
"l 

g!5|F wprk in the freld of :

' (u) Science and Technologr -. (b) Enviromen:tal Studies

(c) Literaure and Joumati,gr (d) Intemational Understm@

fe Th fa *r**nt of Rajiv ddfv'Kliel Ratna' award is :

(,i$ X$I Dev

(a) Gaba

(b) kander Paes

(d) Limba Ram

19. Which d |te following is not fitten by Munshi Prernchand ?

(c) Guide (d) Manasarovr

2t Which of the following is zot associated with the uI'{O ?

(f). II'O . ''
(c)'ASAI.{

L-ET-I711/A

(b) Godan

o) wHo

(d) All of these

3 P,T.O.



21. The office of the uN Ger

(a) vlenna

(c) faris

(a) 175? -

(c) ",itEa

r782

1764

O) Hindus

sf these

Satpath Brahmana

Ramayana

.,'til|r- -[r

(a) defence expendigre

@) expenditure on economic sewices

(c) expenditure on social and community servlces

(d) grant to states

The ratio of width of orn National flag to its lenglh is :

(a) 3:5

(c) 2:4

The words 'Satyameva Jayate' inscribed below the

25.

26. of the emblem of

are taken from :

(a) Rieveda

(c) Mundaka Upanishad

(b)

(d)

L-ET-17111A'



27. 'Kathakali' is a * fuc p-den in which State ?

(a) Kamarrk

(c) Kerala

(b) Orissa

(d) Manipur

28. Janua4' !5 fo celebrated as the :

(a) Repubtic Day

icj Teacher's Day

(b) Ugadhi

(d) Army Day

rbr June 5

+d, J--r= i6

29. The World Environment Da1. s *lelraed on :

@) Apil7
(c) -{';:-:-* 5

bHptb?

, 
(a; Demis Ritchk 'rt fa fhpa
(b) Oa*ia Filo anci Jerry yang

(c) Vat Cerf and Robert Kahn

(d) Steye Case and Jeff Bezos

Ilow many plal.ers are there in Kabaddi team ?

(a) ll iu) s

tcj ) (d) 7

t.

31.

32. Grand Slam in Tennis meaas a player has to win :

(a) Auslralian open, French open, US open and Wimbledon
(b) Australian open, US open and \!,imbledon

(c) Australian open, French open and Wimbledon
(d) French open, Mmbledon

L-ET-171 1 tA
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.Bijapur is known for its :

(a) Sevgre drought condition

(c) Heav,v rainfall

Which city is known as 'Electronic

(a) Mumbai

(c) Gurgaon

The 'Char Mina' is an :

(a) Ahnedabad

(c) Delhi

(b) Gol Gumbaz

(d) StaE of Gmaesw-ara

City of hdia' ?

(b) Hyderabad

(d) Bangalore

Hyderabad

Sikri

(b)

(d)

(b)

(d)

Silicon

Phosphorous

Iron

Platinum

(b) Gujarat

(d) Maharashtra

\
''rli'\36 Which of the following is used in pencils ?

(a) Graphite

(c) Charcoal

-,,'. The hardest substance available on earth is :

(a) Gold

(c) Diamond

o)

(d)

'Dandia' is a popular dance of:

(a) Punjab

(c) Tamil Nadu

'fhe National Song of India was composed by :

(a) Rabindranath Tagore (b) Bankim Chde fuii

(c) Iqbal (d) Jai Sh'nkr Prad

--xT-.171114



{3' Tto 
-ks r-E rbtouing has been named as arnbassador for swachchh Bharat Mission,s, youth-bad *rns .srvachchl 

Saathi, ?

40. Prof'essor Amarh-a Sen is i-amous

(a) Biochemis.:1

(c) Economrcs

41, The l'orlci famous Ajanta Caves

(a) Orissa

(c) Kerala

42. Mr. Devehdra Fadr:..:s ,- -_=

(a) fularr:r".:::

fc -..::-,_-:

(a) Dia \iirza

(c) Saina Nehwal

.fi, Jusr:c: l.S. Thaku ls :

t^.,4, -_:: L xlel .t.It.-s ;: ,_::a

{c) J;--

46. Who has been appointed as

(uPsc) i
(a) aika Saxeng

(c.) A.il Sinsh

L-ET-171 1 /A,

in rr-hich of the fields ?

(b) Electronics

(d) Geologtr, ?,

are situated .-: :

.: ::l- J:"j:sh

: -\1'--.-:s=.

-=*--- _t.5s .1 ,

rb r Goe

id.) h-rducherrJ-

(b) Sania Mirza

(d) Priyanka Chopra

(b) 4lrd Chief Justice o. India

(d) 45th Chief Justice ot, India

the ne',r' nember of the Unicn public Service Commissrc:r,

(b) Arvind Sirohi

(d) B.s. Bassi

1

45. trIuham:ac,t. ;\ ** -_=e:i,.. \\.as a professional bcxer from which country ?(a) United States (b) pakistan

ic) inriia (d) Kazakistan

P.T 
',



17, The world's longest and deepest rail tunnel has recently opd in which country ?

(c) United Kingdom (d) JaPan

48. The 2016 Indian Premier l.eague (IPL) has bben won by which of fu 
-ig 

cricket

(a) France .{ r (b) Switzerland

O) Mamata Banerjee

(d) Laxmi Ratan Shukla

(b) ^diay Shirke

(d) Sourav Ganguly

teams ?

(a) Rising Pune Supergiants O) Sunrisers Hyderabad

(c) Royal Challengers Bangalore (d) Mumbai Indians

19, Who has been swom-in as the new Chief Minister of West Bengal ?

(a) Indranil Sen

(c) Sovan Chatterjee

50. who is the newly elected President of Board of control for cricket in

(a) Ratnakar ShettY

(c) Anurag Thakur

51. Look at this series :

14. 28,20, 40, 32, 64,.........

\\rhat number should come next ?

(a) s2 (b) 56

(c) e6 (d) r28

52" Find the word that names a necessary part of the underlined 
"r'ord 

:

hurricane

(a) beach O) cYclone

(c) damage (d) wind

L-ET-17111A.



53. Find the word that nemes a necessary part of tbe rnd€iliEd 

- 
:

54. Three pencfu co* fu srmg as two erasers.

Four erasgs c.€ fu slnr€ as one ruler.

pencils tc EG.rTndye then pls6.

If & E{ tE rEr--ri< are tue. the third statement is :

(e) c
(c) uncertain

55. Fill the blank in the middle of rhc ab :, cMM, EOO, cQQ,...........,, Klru
(a) cRR

(c) ISS

56. Fill the blank in the middlc of the series :

QA& RAS. SAT. TAU, ............

Vibration

(a) motion

(c) science

(a) ir-AV

(c) TAs

(b) electricity

(d) sound

@) tblse

(d) none of these

(b) css

(d) rrT

(b) UAT

(d) TAr

57. Marathon is ro r*- r bibeocion is to :

(a) winter (b_r b€_
(c) dream (O .r,*

58, Yard is to inch as quart is to :

(a) gallon

(c) milk

L-ET-171 1/A

O)@
(O liquid

I P.T.O.



o)
(d)

solid

inflexible

fi.

ski

(b)

(d)

61. Find rhe ndxt :

fence wall boundary

path alley ......?

(a) ramp

(c) airfield

62. Aayra is the sister of the son

63.

(a) sister

(c) aunt

(b) niece'

(d) granddaughter

(d)

Pointing to a man in a photograph, a woinan said, ..His b.oth..i,
of my grandfathef', hou is the woman related to the man in
(a) sister (b) mother
(c) grandmother I fA) aunt

Prakash is son of pramod. Neha is the daughter of
Neha. Awadesh is the brother of Neha- How ilxl
(a) brother

(c) son

L-ET-1711tA



65. Five cars are for sale. Maruti is cheaper than Tara but c,l=-b tl' lrc.: S:=r 
=thc costliest. Hyundai is cheaper than Tata but costiier th;

cos iest car ? 
_rv^ !'aa rol4 uuL cos'ler ftan \tarn_ l_::c 

= * ,.=:n:

(a) Suzuki (b) Tata

(c) Hl,undai (d) Maruti

Find the cdd one out :

(a) ivletre

(c) Litre

s
Planet

Finci the odd one out :

(a) EHG

(c.) PSR

Find rne odd one out:

(A) GK

(c) PL

o

: _jEc

69.

(b) JML

(d) uYx

(b) MQ

(d) sw

10. Five boys A, B, C, D and E are sknding in a row
betu,een D ard F. yy5.; ;r;:;;:-:^" l'] " '* 

A is between c ard D and B is

encls ? 
h of the foliouing pairs represents the boys standing ar borh ,]:

(a) c, B

(c) E. A

(b) E, C

(d) A, C

L-E-T-1 711iA
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11. Ankit started walking towards North. After walking

walked 40 m. He then tumed left and walked 30 m.

50 m. How far is he ftom his original position ?

30 m, he tum€d towards left and

He again tumed |eft ad wdlked

(a) l0 m

(c) 30 m

code ?

(a) ATAETNR

(c) OTAESNR

(a) 12

(c) 24

(a) 6 years

(c) 14 years

76, Which one of the following words

(a) Syrnpathy

(c) Sympathetic

L-ET-171114

Ilow old is Reena now ?

(b) 40 m

(d) None of these

(b) OTAETNR

(d) STAETNR

o) CPNCBX

(d) DPNCBX

(Dr
(d) lt

O) 12 years

(d) 16 years

is a verb ?

(b) Sympathise

(d) Sympaftizer

If h ,ffiifted.48 sums in

In a certain code, MENTION is written as LNEITNO. How is PAITERN vritten in thst

'73, ln a certain language, MADRAS is coded as NBESBI, br L
code ?

(a) CPNcBz

(c) DPNCtsZ

A student got twice G ry 
- 

re a he got riiht
all, how many clicl he softairyG

'14,

-,i. Reena is twice as old as Sunita Tkee fr 4o, she was three times as old as Smita

l

12



77. 
fl":* 

,n" conec adjecrive of the folowing norur :Advice

(a) Advisable

(c) Advisedli,

78. Choose rhe rr.ord with correct spelling.

79. Mrs. Sharma aJrr.2....,...*..- _-

j _-.--:_r 
L ,

(j-, ---.rr-J 
- l...-.olous

: I-a.,cious

Ihe recenr dT.:ai3 j---_ _
(a) Comparing

(c) Corcparative

81. There is hard I;: . .. . .... . .. . .6

(ai ir; 
ioubt lei :n our minds'

r,niperor Ashoka became...._..

(a) -vagnanirnous 
" after ie hac 

"''or tle r"ar against Kalinga.

/^\ r, ai. 
-\. 1. -::ianjr:i u s

( r,, lviagnanemUs
: -\/'3-.rrnemoqs

80

(b) Advise

(d) Adviser

= .-tne \ii hr,C iast ),ear.

,.bJ Comparison

rd) Comparable

(c) Enorgh
(b) Ar,',

(c) None of these
ali,i! --../r.,)\, il tlAs or,J L..ih,,

(3., .-.r,r.c r,.r--r 
"' " ' .- agonizing d:'-isious iL-) li-= ::i :-;: Fa,.iri oi i![ie.

(c,) True 
(b) \try nosi

.J l.i _ _r

8J. ir 1,,^

;, ',;;.;;J. 
*e woulci lu"e beer: 

"trere 
on ume'

ic) h:rd starrea G) $'ould start

(d) were starting
t_-ET-t 7i "i/A
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84. liar e the farmgrs

(a) Sowed

(c) Srvom

already..............tbir f* deqite the errent weather ?

(b) s.'d
(O srds

85. We heard..........of tnmpets.

(a) Peal

(c) Peel

86. Whither are we hbading............?

(a) Since

(c) Forrn

G) nd: sa
(d) Pale *:

(b) Optimistic

(d) Caretul

debate and lsassning :

O) Philologist

(d) Misologist

(b) 
, 

Search

(d) Advance

(b) Imprison

(d) Set free

14

(b) Into

(d) For

Choose 'one word substitution' for the underlined part of the sentence given

Successfr persons always

88,

(a) Pessimistic

(c) Hopeful

A hatred of argument,

(a) Bibliophile

(c) Mosogynist

89. Sync;nym of Abdicate

(a) Join

(c) Abandon

90. Synonym of Emancipate :

(a) Make a solemn declaration

(c) Conect morally

L-ET-1711/A



Syronlm oi Brazer: :

(a) Melociiarraiic

(c) Humbie

Anton).rn of Candid :

(a) Btuf
(c) Equal

Antonyrn of Agreement

(a) Disiocatiol

(c) Discord

Choc - = =:...==E 
_ _-:r:

(a) s:e;:

(c) Syilabie

Choose *re proF i<k=
['hen lie :

F : did nc, know

Q : he '."'s5 nervous a.nc

R : hearC the hue and cn, a:

S : what to do

The proper sequence should tx
(a) RQPS

(cj SQPR

L-ET_1711/A

(b) Modesr

(d) Shameless

(b) Devious

(d) Blunt

(b) Trubulence

(d) Fragmentatiqn

91.

93,

:f Refulgert :

9{. An

QSPR

PQRS

P,T.*"



97. Correct the underlined word :

Will you londly ooen the hot ?

(a) untie

(c) loose

Choose the proper sequence :

It has been established that :

P : Einstein was

QPRS

RQPS

To be in good mood

To be aloof from

o)

(d)

98.

a

R

although a great scientist

weak in arithmetic

S : right from his school days

The proper sequence should be :

(a) SRPQ

(c) QPSR

To keeps one's temper means :

(a) To become hungry

(c) To preserve ones energy

Cr'ngg1 th. underlined statemeni :

lf the room had been brishter, I would have been able to read for a while beftre bed

tinre.

(a) If t"he room was brighter

(b) If the room are brighter

(c). Had the room been brighter

(d) No improvement

L-ET-17.111A 16

(b)

(d)

99.

(b)

(d)


